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QUESTION 1

Given an OLTP environment with a very large table, which configuration parameter can be set to allocate more memory
for sorting when building an index on the large table?

A. DBUPSPACE

B. DS_POOLSIZE

C. VP_MEMORY_CACHE_KB
D. DS_NONPDQ_QUERY_MEM

Correct Answer: D

QUESTION 2

Which configuration parameter should be set to enable asynchronous page requests when the database server detects
that a query is waiting on 1/0O?

A. DIRECT_IO

B. DBUPSPACE

C. AUTO_AIOVPS

D. AUTO_READAHEAD

Correct Answer: D

QUESTION 3

Consider the following statements: DBSPACETEMP=tempdbs1, tempdbs2, tempdbs3; CREATE DATABASE mydb
WITH LOG IN datadbsl; CREATE TEMP TABLE templ (coll int); Which statement is true?

A. The temp table will be created in datadbs1.

B. The temp table will be created in root dbspace.

C. The temp table will be careated in one of the dbspaces listed in DBSPACTEMP.

D. The temp table will be created round-robin across the dbspaces in DBSPACETEMP.

Correct Answer: B

QUESTION 4

How do the MAX_PDQPRIORITY onconfig parameter and the PDQPRIORITY environment variable work together to
constrain access to PDQ resources?
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A. PDQPRIORITY is the only constraint.

B. MAX_PDQPRIORITY is the only constraint.

C. The minimum of the two values is the actual constraint.

D. The constraint is MAX_PDQPRIORITY / 100 * PDQPRIORITY / 100.

Correct Answer: D

QUESTION 5

Which is NOT a valid index fragmentation strategy?
A. Fragment by Range

B. Partition by Expression

C. Fragment by Expression

D. Fragment by Round Robin

Correct Answer: D
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